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Note:  Can only consider this as evidence of expenses if the “Actual expenses” box is 
checked.
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We want to make the best guess we can about the payor’s CURRENT and near FUTURE 
income.

Most times what a person made in the recent past is what they will probably make in the 
near future.  This will not work if the person has a new job or new job classification, got a 
raise, one time bonus, etc.

If the person has a flat salary, you can use that.
If there are seasonal highs and lows during the year – average the income for a 12‐month 
time period.  W‐2s (earnings) and 1099s (Unemployment Insurance Benefits) are helpful.
If income varies with some overtime, etc., use Year to Date (YTD).  The Period Ending (PE) 
date will tell you how long it took the person to earn the YTD amount.  Divide the YTD 
income by the number of months it took the person to earn it.  Note:  Income earned in 
December will be included in the next year’s YTD number if the first payday in that next 
year includes work days in the prior December.  You need to adjust for that.

Reminder:  Make sure you put the income on the right lines in the calculator.
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Class handout.

This chart helps you figure out how much time the party took to earn the Year To Date 
(YTD) income.  For example, if a party started work on January 1st and the Period Ending 
(PE) date is June 21st, the party worked 5 months (01/01/17 thru 05/31/17) + .70 months in 
June or a total of 5.70 months.
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Note:  Gross “Year to Date” will be the biggest number.
Do not confuse the “Period Ending” (PE) date with the date of the check.

How to calculate earnings with partial month:  Divide amount of money earned by the time 
it took to earn it.  Use “How to Calculate Partial Months” chart to calculate number of days 
it took to earn it.
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Exercise:  Find YTD and calculate his earnings from January 1st thru February 16th.
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Most checks you see will be for every two weeks of work.  This chart is simply an easy way 
to figure out how many days, if any, the party worked in December that may be included in 
the next year’s YTD.

Example 1 (black arrows):  If the person has a Period Ending (PE) date of September 16th, 
you could look at a calendar and count back every two weeks.  This chart does it for you.  
The first PE date in 2017 was January 7th.  That means that one week of December earnings 
is included in the 2017 YTD amount.  You need to adjust for that time period.

Example 2 (red arrows):  If the person has a PE date of August 22nd , again, you can count 
back every two weeks.  Or you can use the yellow and green colored dates for guidance.  
August 22nd is three days before the green colored date.  Look for the first green colored 
date in 2017 and go back three days.  His first PE date in 2017 was January 10th.  That  
means there were four days of December’s earnings included in the 2017 YTD amount.  

Example 3 (green arrows):  Note the Banker’s paycheck actually has a PE date of February 
16th.  If you locate this on the bi‐weekly calendar, you will see that his first PE date in 2017 
was January 5, 2017.  That means he worked 9 days in 2016 which is included in his 2017 
YTD earnings.

When we assumed he started work on January 1, 2017, we divided his YTD earnings by 
1.53 months (01/01/17 – 02/16/17).  We found he earned $4,227 per month.
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If we add .30 months for the 9 days he worked in December, we should divide his YTD by 
1.83.  In other words, 1.53 (01/01/17 thru 02/16/17) plus .30 months for the nine days in 
December.  His YTD of $6,467 divided by 1.83 = $3,553.

By not adjusting for the 2016 earnings included in his 2017 YTD, we would be re using $674 
more income for him than he actually earned. 
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1. Add it all – If this is a bonus that the party gets every year, it is basically just part of the 
normal earnings.  Add the total bonus to the yearly earnings and divide by 12.

2.  Amortize it – Figure a normal one‐time bonus will be gone in a year.  For example, if 
payor got a $1,200 bonus on January 1st – it will be spent at the rate of $100 per month.  If 
the effective date of the child
support order is February 1st, then the payor has spent $100 in January.  Add the extra $100 
from February thru December 31st.  At that point, the bonus is totally spent and you just 
use the base earnings.

3. Temporary order with review – Base the child support on base earnings or an agreed 
amount and set for a review when all the information is available (end of December or 
after W‐2s and 1099s are received).

Try for an agreed amount if payor is likely to get another bonus this year.  Otherwise, if the 
child support is too low, payor will owe a lot of back child support and if it is too high, 
payee may have to pay payor back.

4.  Bonus calculator – Set child support on the party’s base salary and the calculator will tell 
you how much of each bonus goes to support.  Some DCSS offices will not do this because 
it is too time‐consuming.  If there are two attorneys, DCSS can collect child support on base 
income and have attorneys work out the bonus amount and notify DCSS re how much to 
collect. 
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Usually it is the payor who gets the bonuses so with each bonus the child support goes up.  
In this example, it is the payee Mom who gets the bonuses.  So as she gets a bonus, the 
payor’s
child and spousal support amount goes down.

Using a Bonus Calculator saves the parties from coming back to court every time there is a 
bonus.  Set the support on the party’s base salary then, when a bonus comes, look at the 
chart to see how much of that bonus should go to the payee.  Most self‐represented 
litigants will not be comfortable using a Bonus Calculator.  This will come up when there are 
two attorneys.
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Note: These “bonuses” may be a normal part of his paycheck.  Ask.  If so, it is just regular 
income.

15



Some folks, like school personnel, work 10 months of the year.  If they get paid for 10 
months, you need to multiply the monthly income by 10 months and then divide by 12 
months to get
a monthly amount.

However, some school personnel will opt to get paid less during the 10 months they work 
in order to be paid during the two months they do not work.  In that case, you do not 
multiply and divide.
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Calculate “fluctuating income.” 
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Some state employees have to work a whole month BEFORE they get paid.  In this example, 
the person got paid for all of March on April 1st.  That means that income earned in 
December will not be paid until January.  The YTD number will include an entire extra 
month of income.  You need to divide this YTD by four months – not three months – to 
account for the extra income included in this YTD number.  
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There are a lot of different categories that make up a military paycheck.  See the Taxes Slide 
and the handout provided in class.
Base pay is always taxable.  BAS (Basic Assistance for Sustenance) and BAH (Basic 
Assistance for Housing) are generally not taxable.  Your Commissioner may interpret this 
differently.

Great Resource:  How to read an Army Leave and Earnings Statement (LES)
https://www.dfas.mil/civilianemployees/understandingyourcivilianpay/LES.html
Note:  There is a separate one for Army/Air Force, Navy, and Reserve/National Guard
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To calculate seasonal labor, add all the earnings and divide by 12 months to get a monthly 
earnings amount.  Add all the Unemployment Insurance Benefits (UIB) and divide by 12 to 
get a monthly UIB amount.

Note:  You will also get a 1099 form for an independent contractor (self‐employment).
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Social Security Notifications

Taxes: SSDI ………………………. Tax free
Retirement …………….. Taxable

See class handout “Taxes – Who Pays What?”  Included here as second to last slide.
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Tax returns are presumptively correct.  However, there are deductions that are fine for the 
federal and state government but are not deductions from income for calculating child 
support.  What a Commissioner includes and excludes is pretty much discretionary.

The following are generally added back to the net self‐employment income for child 
support calculation:

1. Depreciation.  Example, you buy office equipment that costs $5,000 and will need to be 
replaced in five years.  You might deduct the whole $5,000 in the year you bought it.  
However, the government knows that this equipment is losing value every year.  So 
instead, you may be allowed to deduct $1,000 a year for five years from your income 
for tax purposes.  This is just a paper deduction.  The money was spent when you 
bought it.  So the $1,000 you are writing off this year is still sitting in your bank account.  
Since it is not an actual cash expense, it can be considered as income for child support.

2. Meals and entertainment.  You do not get to deduct your meals at home so why would 
you get to deduct them when you are traveling?  However, some may argue that it 
costs more to eat out than at home, etc.

3.  Expenses not related to the business.  In this example, the real estate agent only has 
$1,000 a year in office expense.  She does not seem to be renting an office.  In addition, the 
adding machine tape is covering the spot where she is deducting $10,494  for business use 
of her home.  Why would we allow her to deduct janitorial expenses for her home?  
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Everyone needs clean clothes.  Should she be allowed a deduction for laundry and cleaning?  
Would your answer be different if she was required to wear a uniform? 
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We start with her idea of net income from the business ($1,681).  We add back in 
depreciation ($5,404) for a total of $7,085. We divide by 12 months to get her monthly 
rental income of $590.42.
(Note:  For this example, we are assuming it is OK for her to deduct the $5,710 listed at line 
19.) 
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Review his Schedule C to determine what you would allow him as business expenses.

If he is a mobile massage therapist it may make sense to allow for mileage (Note: He took 
the standard mileage deduction ‐ 15,115 work miles x .54 cents per mile = 8,162.)
Would you allow for meals and entertainment?

His “Other Expenses” on page two look reasonable but what is “CPE?”  Ask him.
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DCSS advised me that the Quarterlies always seem to be off by $1.00

Both payor and the payee used to load automatically to the California Child Support 
Automated System, Child Support Enforcement (CCSAS‐CSE) commonly referred to as CSE.
Now it is just payor.  DCSS has to manually request info thru EDD on the payee.
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These are helpful because they have the name of the employer.
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This is an optional form for California.  The information is listed by Social Security number.

If the employer signs up for this and provides all the information, the employer does not 
have to complete an Employer Wage and Insurance Verification form.  (Next slide.)

Some employers complete the form but they do not report to EDD so DCSS checks both.
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The Wage and Insurance Verification has a wealth of information.  This will give you income 
and deductions like union dues and mandatory retirement.  It will also tell you how much 
insurance costs for the employee and dependents.  There may be children you have never 
heard of listed as being covered by the person’s insurance.  Check to make sure you have 
the correct filing status for the person.  If the children are not in the home, the person may 
get credit for other support paid.  
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This is Social Security Disability (SSDI) income.  Children of a parent who gets SSDI or 
retirement benefits may be entitled to what are called “derivative benefits.”  Brief 
explanation:  Their child gets an income (derivative benefit) because the parent is disabled 
or retired.  The amount the child gets may be off‐set against current and/or past due child 
support.  There are a bunch of rules about how this works.  See Family Code §4504.
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Commissioner Baker may use another state’s tax rate if there is no tax or a flat tax rate.  If 
the other state has a graduated tax rate, she will default to California.  There are too many 
variables to try to figure out a person’s taxes unless the other state has no tax or has a flat 
tax rate.
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See class handout – second to last slide.
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The mandatory retirement deduction will generally apply to someone who works for the 
government.  There is no deduction for a voluntary retirement plan like a 401(k) plan. 
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1. Union dues.  The deduction is generally the monthly amount – not for joining (although 
that is arguable).

2.  Health insurance.  Paid for the party or a child
Check to see if the health insurance is pre‐tax or post‐tax.  If it is a deduction 

on the paycheck it is probably pre‐tax.  If it is paid directly to the insurance company, it is 
post‐tax.

Deductions that go to a savings account to cover out‐of‐pocket expenses are 
not deductible.  These will have various names like “Health Savings Account,”  Family 
Savings Account,” etc.

Military health insurance is called “Tri‐Care.”

3. Other support paid.  This is for current child support actually paid.  There is no 
deduction for payments on arrears.

4.  Job related expenses.  This is a deduction for things people have to buy to do their job –
like uniforms, steel‐toed boots, etc.  We give credit for replacing tools that break down and 
have to be replaced but not the cost of buying all new tools to go into a particular 
occupation. 
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When it comes to monthly deductions like union dues and health insurance, do not use 
YTD.  First, these types of deductions are not pro‐rated so the YTD number is not an 
accurate reflection of what is paid each month.  Second, deductions like health insurance 
go up.  Use the current amount the person pays, not an average of what was paid in the 
past.
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In this example, there are two deductions labeled “Support.”  If they are both for current 
support, he should get a deduction for both.  He should not get a deduction for the $51 if it 
is for payment on arrears.
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When establishing past due support, ask DCSS to use this form.  It is easier to read than 
some of the others.  Commissioner Baker uses this PowerPoint presentation before 
establishing a parent’s past due support.
Note:  The number in the second yellow column with no separate heading is probably a tax 
refund intercept.  We are NOT supposed to say that because tax information is so highly 
confidential.  But how else you explain to someone what it is?
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Class Handout
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